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Question Id : 92090627129 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

qy| 9 9 & gH-gH, 9141 fasii &1 gH-99

e YU-4H, UHl-9eR, uigd 3l $ 3R FER|
Wy 7 99 R W g,

&, 311 1 gl 2

Sub questions

Question Number : 1 Question Id : 92090627130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U didadl & TERidl Ud 1 &1 A1H dard |

(1) AR I, gLieRT (2) AR HR, siem g
@) IR g TR, Afamdt (@) ImYR R AR, e
Options :

920906107201. 1
920906107202. 2
920906107203. 3
920906107204. 4

Question Number : 2 Question Id : 92090627131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 € HyF RU U §: U ity A & w9 ¥ forfed § o guv 39
HRUR S EUH I

AMBYT A . GHFG T 99 G a1 g, o6 S R 8 gl

HRUIR : TS 394 Siigd # afe PR uar SR & &dl @ df S9®1 UG Had
I o1 ol 18 Gbdl | 98 DHI 7 HH ITHT T 3@y I |

IR HY & Maid |, A1 fau 10 fawedi 1 9 98 3w &1 994 Fifu:

(1)  ASRREA HEl & 3R R, A P! Gl AR &

(2) ASIRRGH Hel g, dfd R, A B Uel SRS el &
(3) AUER APTIRUE TR

(4) AGEElE, AR WET B

Options :

920906107205. 1
920906107206. 2
920906107207. 3
920906107208. 4

Question Number : 3 Question Id : 92090627132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A €1 YA 2U T §: Us sifiidpud A & U H faled € o g 39
PRURS EYH E|

MUY A - A TN 3R AR WIIHHH & JaQ Saa-d 4 3 Uldad! 8§ Jae g3l g
PHRUR: ®id A Wi JE ¥ 39 W& &1 i faa g1

IWRIE HYF F 3Tdlep H, A fU 7Y fasedi 7 T et IR &1 90 SIS

(1) A SRR Gl & 3R R, A DI Tl ARAT &

(2) A SIRREHI 98l g, Tl R, A T Ue! A T8l &

3) AUSE APTRTA TR
(4) AWl g, AP RUTT B
Options :

9209061072009. 1
920906107210. 2



920906107211. 3
920906107212. 4

Question Number : 4 Question Id : 92090627133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrfeafad arel 7 9 98 e &1 954 S|

A, U didadl &1 Hm aifefds =<l 81

B. gl a7 <Igl &a &1 W a8l

C.  H-YH 3R IH-gH Ul H Refad UHTY SEPR ¢
D. Ugl HETHRA HIciH HUI B SMUR §-191 71 8|

E. WYl §d 8 HFG & I BIg &A1 91|

413 feu 0 faspedl | @ Tl IR &1 994 Sifou

(1) A C3IRE

2) A B CS3IRE

(3) A CSIRD

4 AB3RC
Options :

920906107213. 1
920906107214. 2
920906107215. 3
920906107216. 4

Question Number : 5 Question Id : 92090627134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 Q) HyA R MU E:
&Y | : dN] db o | gH-gH, 1Y el &1 gE-gH|

®YF 1| : A & oitgq § St +ft arivfRyfaal sl 39 wew ud 84 & 91y 3961 9l
HT IMRT A+t 31 BT Sita YEHg 8 b 8|

SWRIF HYF & fdlP H, 91 fGu 70 fapadl § 9 a9 Iugad IR &1 9949 BT

(1) @Y | 3R 1l S Wel 8
(2)  BY 1 3R 11 ST TR &
(3) YA | el g, Afch HY 11 TTad §
(4) HYF I TTAd §, Afde FYE 1| Fel 8

Options :

920906107217. 1
920906107218. 2
920906107219. 3
920906107220. 4

Question Id : 92090627129 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

a9l deb a1 § gH-gH, e a1 &1 gH-g0

e YU-4H, UH-9eR, uigd 3l $ 3R FER|
GHrg 9 e e 9 g,

&, S 1 eIl g

Sub questions

Question Number : 1 Question Id : 92090627130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR dfdad! & TEfidl ud &1ed &1 AT 9did |

(1) AR @, geieR (2) YHdR HRd, siem g
3) IWYUR Rig Gas, Ifgawdt @) I\UR Rig iR, TEaE
Options :

920906107201. 1
920906107202. 2
920906107203. 3
920906107204. 4

Question Number : 2 Question Id : 92090627131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 € HyF RU U §: U ity A & w9 ¥ forfed § o guv 39
HRUR S EUH I

AMBYT A . GHFG T 99 G a1 g, o6 S R 8 gl

HRUIR : 9™ 30 Sfiaq # afe AR var o &1 &l @ df 39T UIYg Hed
I o1 ol 18 Gbdl | 98 DHI 7 HH ITHT T 3@y I |

IR HY & fdid |, A1 f3u e fawedi 1 9 91 3 &1 994 i

(1) A SIRRGH 98l € SRR, A P Ul TAT &

(2) A SIRRGH Hgl € AR, A T U6l RS 7ol &
(3) AUER APTIRUE TR

(4) AGEElE, AR WET B

Options :

920906107205. 1
920906107206. 2
920906107207. 3
920906107208. 4

Question Number : 3 Question Id : 92090627132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A & YA AU T §: Us sifidud A & U # fifed g o g1 99
PRUR S FUH g

MUBUT A ;U TN 3R I WIHHF &1 Had sdoi-d ¥4 3 Uleadl § Udhe gofl g
PRUIR ; Hiq A W GE™ ¥ 9 W91 &1 Ao far g1

IRIF YT & Tdld |, A1 fu 71U fasdl 7 @ "et 39 &1 90 Sife:

(1)  ASRREAGE E IR R, A DI TSI ARAT§

(2) A SRR Hel €, Al R, A B Ul ARS8l &

3) AUGE APIRTE LR
(4) ASIEI g, AfbT R UG B

Options :

9209061072009. 1
920906107210. 2
920906107211. 3
920906107212. 4

Question Number : 4 Question Id : 92090627133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafed arei 4 98 fadey &1 984 Fifor|

A, Uga didadl &1y S =<l 81

B. gl &id A dIgl B &1 W fhur g1

C.  YH-YH 3R gH-gH Ul H YTRefad UHTY SEdR ¢
D. Ugl HETHRA BTl HUI HI YR S4191 771 g

E. U9 @ §d 8 HFY & W™ BIg &A1 91fgu|

e fau 71 fashedl | 4 98l SR &1 94 Difed ;

(1) A C3IRE
2) A B CS3IRE
(3) A CSIRD

4 ABS3RC



Options :

920906107213. 1
920906107214. 2
920906107215. 3
920906107216. 4

Question Number : S Question Id : 92090627134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIE KA CAIC AR U
HYF | : aN] b g § gH-g4, 141 [Tl &1 gH-g4|

&Y Il . A & oitgd J ot o uiRfRufoa st 39 wed ud 84 & |1y 31 9EAl
&1 A1fey aft 3 &1 e gErg g gdar g |

SWRIF HYA & 3P #H, -9 3 70 fdhedl & ¥ 9ad Juga IR &1 994 BT

(1) USRI e
2  HY 1 3R 1S T §
(3) Y| e, At HYF 11 7T ®
(4)  SYF | TTed g, Qb HY 1| el @

Options :

920906107217. 1
920906107218. 2
920906107219. 3
920906107220. 4

Sub-Section Number : 2
Sub-Section Id : 920906872
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090627135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAfafad wsal 7 9 5 Isg &1 ynfaars &F 91 76l 82

A I

B. WX

C. Tr%

D. Td%

E.  Wufd

A f3u v fasedt # 4 Ugl I &1 994 ST

(1) HddE

(2) HITATDB

(3) aacC

4) HAADTC
Options :

920906107221. 1
920906107222. 2
920906107223. 3
920906107224. 4

Question Number : 6 Question Id : 92090627135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAfafad wsal 7 9 5 Isg &1 ynfaars &F 91 76l 82

A I

B. WX

C. Tr%

D. Td%

E.  Wufd

A f3u v fasedt # 4 Ugl I &1 994 ST

(1) HddE

(2) HITATDB

(3) aacC

4) HAADTC
Options :

920906107221. 1
920906107222. 2
920906107223. 3
920906107224. 4

Question Number : 7 Question Id : 92090627136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 & a1y g 1 B e S Rl geredl & ol gaf Sl

-1 (eTa) -1 (3rd)
(A) I3 BiE () e gl
(B) U3 WREHI () =813 &I ARAT
(C) Ule BT (1) HEH qgrH
(D) UE HIeAl (V) JUET ST

A fau T fasedi § 9 9l SR &1 994 DI

(1) (A)-(lI), (B)-(IV), (C)-(1), (D)-(I)
(2) (A=), (B)-(1), (C)-(), (D)-(IV)
(3) (A=), (B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-(), (B)-(1), (C)-(IV), (D)-(II1)

Options :

920906107225. 1
920906107226. 2
920906107227. 3
920906107228. 4

Question Number : 7 Question Id : 92090627136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 & a1y g 1 B e S Rl geredl & ol gaf Sl

-1 (eTa) -1 (3rd)
(A) I3 BiE () e gl
(B) U3 WREHI () =813 &I ARAT
(C) Ule BT (1) HEH qgrH
(D) UE HIeAl (V) JUET ST

A fau T fasedi § 9 9l SR &1 994 DI

(1) (A)-(lI), (B)-(IV), (C)-(1), (D)-(I)
(2) (A=), (B)-(1), (C)-(), (D)-(IV)
(3) (A=), (B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-(), (B)-(1), (C)-(IV), (D)-(II1)

Options :

920906107225. 1
920906107226. 2
920906107227. 3
920906107228. 4

Question Number : 8 Question Id : 92090627137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"3{TSl’ dgHd Weg b1 dodH &0 T -

A 3t
B. 34
C. 94
D. g
E. 39

At f¢u 710 fash el @ | el I &1 99+ Sifuil -

(1) &Hdd A

(2) PAABIIRD

(3) HaacC

(4) HAADARE
Options :

920906107229. 1
920906107230. 2
920906107231. 3
920906107232. 4

Question Number : 8 Question Id : 92090627137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"3{TSl’ dgHd Weg b1 dodH &0 T -

A 3t
B. 34
C. 94
D. g
E. 39

At f¢u 710 fash el @ | el I &1 99+ Sifuil -

(1) &Hdd A

(2) PAABIIRD

(3) HaacC

(4) HAADARE
Options :

920906107229. 1
920906107230. 2
920906107231. 3
920906107232. 4

Question Number : 9 Question Id : 92090627138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfefed # -4 Ueg Fe=d Uag 9 &1 82

(1) e (2) <Hg
(3) dd® (4) WSH
Options :

920906107233. 1
920906107234. 2
920906107235. 3
920906107236. 4

Question Number : 9 Question Id : 92090627138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fr=fefed # -9 2eg fe=d Uag 9 &1 82

(1) dem (2) <drg
(3) ddd (4) WS
Options :

920906107233. 1
920906107234. 2
920906107235. 3
920906107236. 4

Question Number : 10 Question Id : 92090627139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i BH I 81 IRy & [ U Ueg § -

(1) S[ @ fa9
(3)  SeUd 4 fag
Options :

920906107237. 1
920906107238. 2
920906107239. 3
920906107240. 4

Question Number : 10 Question Id : 92090627139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i BH I 81 IRy & [ U Ueg § -

(1) S[ @ fa9
(3)  SeUd 4 fag
Options :

920906107237. 1
920906107238. 2
920906107239. 3
920906107240. 4



Question Number : 11 Question Id : 92090627140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PAYa AR usd §

() g =S (2) 2l HUHHI

(3) SIHHDI (4) U AUBHHIU 3R UH GHBI
Options :

920906107241. 1
920906107242. 2
920906107243. 3
920906107244. 4

Question Number : 11 Question Id : 92090627140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PAYa AR usd §

() g =S (2) 2l HUHHI

(3) SIHHDI (4) U AUBHHIU 3R UH GHBI
Options :

920906107241. 1
920906107242. 2
920906107243. 3
920906107244. 4

Question Number : 12 Question Id : 92090627141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfg 18, 19, x, 25 3R 26 BIAIH 218, A 5, 11, 13, 19 3R (3x=1) FT AL Fid HifoW|

(m 21 (2) 20.6
(3) 19.6 (4) 188
Options :

920906107245. 1



920906107246. 2
920906107247. 3
920906107248. 4

Question Number : 12 Question Id : 92090627141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 18, 19, x, 25 3R 26 PIHI 218, Al 5, 11, 13, 19 31 (3x—1) BT /I FTd DT |

(1) 21 (2) 206
(3) 19.6 (4) 188
Options :

920906107245. 1
920906107246. 2
920906107247. 3
920906107248. 4

Question Number : 13 Question Id : 92090627142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH® d81 10%, 20% 3R 25% & Jed U dgl J1d Difod |

(1) 55% (2) 54%
(3) 46% (4) 52%

Options :

920906107249.
920906107250.
920906107251.
920906107252.

AW N —

Question Number : 13 Question Id : 92090627142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it 981 10%, 20% 3R 25% & Jed Ud a1 J1d Hifer|

(M 55% (2) 54%
(3) 46% (4) 52%
Options :

920906107249. 1
920906107250. 2
920906107251. 3
920906107252. 4

Question Number : 14 Question Id : 92090627143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us aiad 6 fHl/Ae &1 id U 99 381 8 | YA [ & 915 d8 6 e & folU 3/RM &1 81

24 fHm 3t I 78 A A 98 T aug amm?

(1) 64er24 e (2) 6Her18 AT
(3) 5Her18fAe (4) 44 24 e
Options :

920906107253. 1
920906107254. 2
920906107255. 3
920906107256. 4

Question Number : 14 Question Id : 92090627143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us aafad 6 faerdi/ae &t nfd O 9d 81 81| YA 6 & a1¢ 98 6 e & fou smm &3ar 81

24 Tt @1 gl 7 &3 # 98 b= g0y ovm?

(1) 6HeT24 fiFe (2) 649118 e
(3) sHerigfiae (4) 4924 fiFe
Options :

920906107253. 1
920906107254. 2
920906107255. 3
920906107256. 4



Question Number : 15 Question Id : 92090627144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5|n€+casﬁ 17 % Eﬁ

(sin‘lﬂ—ccnsd‘ﬁ]ﬂﬂﬂﬁﬁlﬁﬁﬁﬁml
sin@-cosf 7 '

(1) 119 iy A%

5

119 2

3 —_ iy =

(3) 160 (4) 3
Options :

920906107257. 1
920906107258. 2
920906107259. 3
920906107260. 4

Question Number : 15 Question Id : 92090627144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Slh!5'+¢0’$f? 1? % t_‘ﬁ

(sin‘lﬁ—ccns’"ﬁ]?ﬁlﬂ]:fﬂlﬁﬁﬁﬁ[ﬂl
sind—cosf 7 '

1 119 @ 12

5

119 2

5y 75

(3) 160 (4) 3
Options :

920906107257. 1
920906107258. 2
920906107259. 3
920906107260. 4

Question Number : 16 Question Id : 92090627145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1 ey QU 70 ST ST ThETd Y F HTH0 Hdl 87
T IRE YR

P9 3 [$3isRe () &1

! fEeiidide (ivey) HIaH 3l
sy | . FHAPUPS A DIAA B

Il - @l =Y, feefigie T8 81

IURIeRT HYA & el H, 1 fou 7 faseui # 4 Wl Iuged IR B 944 Hiferg
(1) ad ey | 4El 81
(2) ad ey 1| gg Bl
(3) G s | 3R 1 e B
(4) A e 1, 9 9 A || wE g
Options :
920906107261. 1
920906107262. 2

920906107263. 3
920906107264. 4

Question Number : 16 Question Id : 92090627145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1 ey QU 70 ST ST ThETd Y F HTH0 Hdl 87
®Y . DI A GG

P9 3 [$3isRe () &1

aft fEeiigie (iuer) HiaH gl
sy | . FHAPUPS A DIAA B

Il - @l =Y, feefigie T8 81

IURIeRT HYA & el H, 1 fou 7 faseui # 4 Wl Iuged IR B 944 Hiferg
(1) ad ey | 4El 81
(2)  Pad sy || GEl Bl

(3) aFIfpY | iR 1 T T B
4) Ad ey |, T 9@ ey | 98l gl

Options :

920906107261. 1
920906107262. 2
920906107263. 3
920906107264. 4

Question Number : 17 Question Id : 92090627146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FArefifad a1 1 eFgde ug SR - fau e uy &1 IR difor:

ABFTHG CBDH agAE IS RCIDEe AR AN EGIF, DB MBI E F A FA

(1) g4 (2) Hdrol
(3) Gt (4) g&t
Options :

920906107265. 1
920906107266. 2
920906107267. 3
920906107268. 4



Question Number : 17 Question Id : 92090627146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfifad a1 1 @Fgde ug 3R - fau T uy &1 3R difer:

ABBI G CBH Te1e IS DS IR GNERGIF DB HMGIE FA P

(1) dgd (2) Hdrol
3 P 4) Uel
Options :

920906107265. 1
920906107266. 2
920906107267. 3
920906107268. 4

Question Number : 18 Question Id : 92090627147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP (X) IR fdwed] 1 ¥ 59 v o wfAfgd g2
O SPHfd

STHId (X)

T N
(1) (2)
(3) < (1)

Options :
920906107269. 1




920906107270. 2
920906107271. 3
920906107272. 4

Question Number : 18 Question Id : 92090627147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3MTpfa (x) ¥R faweul & @ vy us o wfafed 82
GHE 3THid

3T (X)

] N
(1) @)
(3) < (4)

Options :

920906107269. 1
920906107270. 2
920906107271. 3
920906107272. 4

Question Number : 19 Question Id : 92090627148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3R &1 98 WHg U Sl A A B
POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906107273. 1
920906107274. 2
920906107275. 3
920906107276. 4

Question Number : 19 Question Id : 92090627148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R P1 dg I4g AU o 3= 4 firF |

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX

(3) FQMV (4) ZIKL
Options :

920906107273. 1
920906107274. 2
920906107275. 3
920906107276. 4

Question Number : 20 Question Id : 92090627149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g i 31&RT & IR H Fad Juge faavor g

&1 YR : AT IR : STl

(1) FNMARAICHAFIEREAAS! (2 AIHEHS IR § |

(3) A 3y ad H U od €1 (4) 3 3fa9rdl 9<eH & GRIEd g

Options :
920906107277. 1



920906107278. 2
920906107279. 3
920906107280. 4

Question Number : 20 Question Id : 92090627149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

34 i 3R & IR H ¥aY Iuge faavur gAu|

&1 IR : AT R - STl

(1) dUaRdIceHA S gRIGAd gl (2) o INAHS TS & |

(3)  dc 3fe: da H U o €1 (4) d 3@yl 9ee & gRI &d g

Options :

920906107277. 1
920906107278. 2
920906107279. 3
920906107280. 4

Question Number : 21 Question Id : 92090627150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS raTed (1¢)) 3t RIuAl foed ad 1 g5?

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906107281. 1
920906107282. 2
920906107283. 3
920906107284. 4

Question Number : 21 Question Id : 92090627150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIS raTed (1¢)) 3t RIuAl frd 94 1 g5?

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906107281. 1
920906107282. 2
920906107283. 3
920906107284. 4

Question Number : 22 Question Id : 92090627151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SCERSIUE CIEa R IR EFIEY

-1 (@) Y- (Ui )
(A) SETerT () g Hited
(B) HYeKI IS AT (I HME
(C) HRd (i MesAAqS
(D) FARes frsH (V) IS (T[eTE)

411 feu e fawegl § 9§ 981 IR &1 954 S

(1) (A)-(), (B)-(1), (C)-(1), (D)-(IV)
(2)  (A)-(), (B)-(m), (©)-(1v), (D)-(1)
(3)  (A)-(), (B)-(), (Q)-(1), (D)-(IV)
4)  (A)-(V), (B)-(II1), (C)-(1), (D)-(1)

Options :

920906107285. 1
920906107286. 2
920906107287. 3
920906107288. 4

Question Number : 22 Question Id : 92090627151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SCERSIUE CIEa R IR EFIEY

-1 @ -1 (i o)
(A)  3mfern () @A $ed
(B) YK I HANDT (I HmE
() HRd (i MeeA s
(D) TATEes fdhirsH (v) I )

411 feu e fawegl § 9§ 981 IR &1 954 S

(1) (A)-(), (B)-(IN), (C)-(), (D)-(IV)
(2 (A)-), (B)-(1), (©)-(1V), (D)-(1)
3) -, (B)-(1), (Q)-(). (D)-(IV)
(@) (A)-(V), (B)-(IIN), (C)-(1), (D)-(I)

Options :

920906107285. 1
920906107286. 2
920906107287. 3
920906107288. 4

Question Number : 23 Question Id : 92090627152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey fanTy uivug &1 16T &1 fogm mar 42

(1) 16 3T 1950 (2) 01 3fUe 1951
(3) 06 3ffid 1952 4) 16 3R 1952
Options :

920906107289. 1
920906107290. 2
920906107291. 3
920906107292. 4

Question Number : 23 Question Id : 92090627152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STy fadhy ufveg &1 78 ! fopar mmar ur?

(1) 16 3% 1950 (2) 01 38 1951
(3) 06 3AUd 1952 (4) 16 3V 1952
Options :

920906107289. 1
920906107290. 2
920906107291. 3
920906107292. 4

Question Number : 24 Question Id : 92090627153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I €1 ®yA fau U §: U@ iy A & w4 ¥ fofed g o guu 39
PRURD EAH |

AUBUTA : A WHGY & Ydd & 915 FRIST HRd H J&Y Hofgd G2 W= & 9 H
REind

PRUIR : RIS Ugd ¥ [odh urd Udhldrd WS &1 Tee fgyrRom ot
SWRIF Y & fdl$ H, 91 f3u 70 f9badl § 9 Y Ik &1 999 SIS

(1) ASRREAIHEI € 3R R, A DI g AR §

2 ASRREA Gl €, AfhT R, A B TSI AR 81 &
3) AUSE AMfFIRUS TR

(4) AYEEIE, b RUEN B

Options :

920906107293. 1
920906107294. 2
920906107295. 3
920906107296. 4

Question Number : 24 Question Id : 92090627153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I €1 ®yA fau U §: U@ iy A & w4 ¥ fofed g o guu 39
PRURD EAH |

AUBUTA : A WHGY & Ydd & 915 FRIST HRd H J&Y Hofgd G2 W= & 9 H
REind

PRUIR : RIS Ugd ¥ [odh urd Udhldrd WS &1 Tee fgyrRom ot
SWRIF Y & fdl$ H, 91 f3u 70 f9badl § 9 Y Ik &1 999 SIS

(1) ASRREAIHEI € 3R R, A DI g AR §

2 ASRREA Gl €, AfhT R, A B TSI AR 81 &
3) AUSE AMfFIRUS TR

(4) AYEEIE, b RUEN B

Options :

920906107293. 1
920906107294. 2
920906107295. 3
920906107296. 4

Question Number : 25 Question Id : 92090627154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Furdt 3 vy W & wrafAd 82

(1)  dRermel 2) fommeasa
(3) dsfieA (4) Uydfead
Options :

920906107297. 1
920906107298. 2
920906107299. 3
920906107300. 4

Question Number : 25 Question Id : 92090627154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e AR 37 fry Qe ¥ grafd g2

(1) el 2) fomfess
3) aefliea 4) Uydfeay
Options :

920906107297. 1
920906107298. 2
920906107299. 3
920906107300. 4

Part B: Computer Science and Information Technology

Section Id : 920906538
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906873
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090627155 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If a=cos2¢ +isin2¢ and b=cos2f+isin2fF then

(1) Jab = cosla + f)—isin(a + ) (2)
3)  Jab =sinla + B)+icoda+ B) (4)

Options :

920906107301. 1
920906107302. 2
920906107303. 3

Jab = coda + B)+isinla + B)
Jab =sin(a + #)—icoda + B)



920906107304. 4

Question Number : 26 Question Id : 92090627155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3N a = cos2a +isin2a AR b= cos2f+isin28 dd

(1) ab =coda+ p)-isin(a+ B)
@  Jab =coda+p)+isinfa+ )
3)  ab =sin(a+ g)+icoda+ p)
@)  Jab =sin(a+ g)—icoda+ f)

Options :

920906107301. 1
920906107302. 2
920906107303. 3
920906107304. 4

Question Number : 27 Question Id : 92090627156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 2

If y=x"+x*+x+1, theny

(1) has a local minimum
(2) has a local maximum
(3) neither has a local minimum nor local maximum

(4)  both local minimum and local maximum

Options :

920906107305. 1
920906107306. 2
920906107307 3
920906107308. 4

Question Number : 27 Question Id : 92090627156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



; &
qﬁ, y:x'J’ +x " +x+1,dd y

(1) & RFHY YA g

2) @™FYGI=FdH eI

(3) Al R AAH g SR A1 g1 R 3|
4)  SFFY A SR RIFY 3= B

Options :

920906107305. 1
920906107306. 2
920906107307 3
920906107308. 4

Question Number : 28 Question Id : 92090627157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean of 50 items is 100. At the time of caleulations, two items 80 and 190 were

wrongly taken as 90 and 20. What is the correct value of the mean?

(1) 102.5 (2) 103.2
(3) 103.5 (4) 104.2
Options :

9209061073009. 1
920906107310. 2
920906107311. 3
920906107312. 4

Question Number : 28 Question Id : 92090627157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

50 Hal 1 HIEd 100 €1 70T & 9HY & Hel 80 3R 190 HI Tad! ¥ 90 3R 20 A ferar |
HIe &1 Hgl AF 18

(M 102.5 (2) 103.2
(3) 103.5 (4) 104.2
Options :

920906107309. 1



920906107310. 2
920906107311. 3
920906107312. 4

Question Number : 29 Question Id : 92090627158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f : R—>R is defined by f(x)=3x>—5 and g: R>Rby g(x)= —— then gof(x) is
x+1
3x% -5 3x2 +5
(1) S G =1 3
9x™ -30x" +26 O9x~ —6x" +26
oo o2
dx 3x
= L e ( —
x +2x" -4 O9x" +30x" -2
Options :

920906107313. 1
920906107314. 2
920906107315. 3
920906107316. 4

Question Number : 29 Question Id : 92090627158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af s T —R &I f{.‘c]=3x2 -5 Q'R'[G:h"\fg; ;'E{—}Iiaﬂgix}= T g1 g faar

b

x“+1
gl gof(x) Bl
g 2

(1) e ) 2t

9x? -30x% + 26 ax? - 6x2 + 26

32 32

(3) _— (4) .

xl+2c2 -4 9x? +30x% -2

Options :

920906107313. 1
920906107314. 2
920906107315. 3
920906107316. 4



Question Number : 30 Question Id : 92090627159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of two digits no. is 10, on reversing the digits of a number the number is
decrease by 36. Find the number.

(1) 73 (2) 37
(3) 28 (4) 46
Options :

920906107317. 1
920906107318. 2
920906107319. 3
920906107320. 4

Question Number : 30 Question Id : 92090627159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l il B T-AT HTUN 10 § | G- & 3] B Jdied R T H 36 B &4 61 Il g| J=l

F1d Hiferg|

(y 73 2y 37
(3) 28 (4) 46
Options :

920906107317. 1
920906107318. 2
920906107319. 3
920906107320. 4

Question Number : 31 Question Id : 92090627160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The number of vectors of unit length perpendicular to vectors a:[l,l,{]} and

b=(0,11)is

(1) one (2) two

(3)  three (4) infinite
Options :

920906107321. 1
920906107322. 2
920906107323. 3
920906107324. 4

Question Number : 31 Question Id : 92090627160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al a=(1,1,0)3R b =(0,1,1) & dadd P13 qdls & AU &I G 5|

(1) TP @ @
(3) dHF (4) 3d
Options :

920906107321. 1
920906107322. 2
920906107323. 3
920906107324. 4

Question Number : 32 Question Id : 92090627161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A(3,0,-1), B(2,10,6) and C(1,2.1) be the vertices of a triangle and M be the
mid-point of AC. If G divides BM in the ratio 2 : 1, then cos(£ZGOA) (O being the

origin) is equal to

1 115 (2) 1/215
3 1/4/30 (1) 1/6410
Options :

920906107325. 1



920906107326. 2
920906107327. 3
920906107328. 4

Question Number : 32 Question Id : 92090627161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH fAsiiT A(3,0.-1), B(2,10,6) IR €(1,2,1) W RAYA S N € IR M AcHT A fig ¢ |
gl 6 BM @1 2: 1, & Urd # faHTid &Rl 8, @ cos(£GoA) (OHag e F A0 | &
TR g :

(M  1/415 @ 1/2415
3) 1/430 @) 1/6J10
Options :

920906107325. 1
920906107326. 2
920906107327. 3
920906107328. 4

Question Number : 33 Question Id : 92090627162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A=26, SUN =27 then CAT =7

(1) 24 (2) 27
(3) 57 (1) 58
Options :

920906107329. 1
920906107330. 2
920906107331. 3
920906107332. 4

Question Number : 33 Question Id : 92090627162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfd A=26, SUN =27 dICAT =2

(1) 24 (2) 27
& 57 (4) 58
Options :

920906107329. 1
920906107330. 2
920906107331. 3
920906107332. 4

Question Number : 34 Question Id : 92090627163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2u =5x ., is the relation between two variables u and x, and harmonic means of x is

0.8, find the harmoniec mean of u.

(1) 1.250 (2) 1.500
(3) 2 (4) 0.32
Options :

920906107333. 1
920906107334. 2
920906107335. 3
920906107336. 4

Question Number : 34 Question Id : 92090627163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TfE 2u = 5x, YT u 3R x P 4 HGH g 3R x 1 GIHD A1 0.8 €, a1 v I gD A
EIGET

(1) 1.250 (2) 1.500
@) 2 4) 032
Options :

920906107333. 1
920906107334. 2
920906107335. 3



920906107336. 4

Question Number : 35 Question Id : 92090627164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The variance of a series of numbers 2. 3, 11 and x is 12.25. Find the value of x.

(1) 6 or E (2) 4or E
r‘s '.-5
@) 6or .1_;1 4) 4or -1_:-

Options :

920906107337. 1
920906107338. 2
920906107339. 3
920906107340. 4

Question Number : 35 Question Id : 92090627164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T 2, 3, 11 3R x B Y@ B YHL01 12.25 § | + D1 HH JTd Difow

1) 69R % 2) 49R lr-:l
3) 69K % @) 43R %
Options :

920906107337. 1
920906107338. 2
920906107339. 3
920906107340. 4

Question Number : 36 Question Id : 92090627165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If A, (G, H be respectively, the A M., G.M., and H.M. of three positive numbers a, b, ¢;
then the equation whose roots are these numbers is given by

1) x3-3422+G3Bx-1)=0 @ x3-34x2 +3(G3/H)x-G3 =0

@  B+342+3G3H)x-GP=0 (@) x3-34x%-3G3/H)x+G3 =0

Options :

920906107341. 1
920906107342. 2
920906107343. 3
920906107344. 4

Question Number : 36 Question Id : 92090627165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg A, G, H BHY: diF Y-TeT® GE&3il g, b, ¢ BT AM, GM, 3R HM. 81 dl 98 eI
T ga 4 S@=aml g, A & gR flear Srar g

M x®-34x2+G%Bx-1)=0 2) x"a—aﬂ.r2+3[ﬂ""‘/ﬂ}x—(}"q={]
3) x°+34x%+ S[GH/H]I ~G?=0 @) x3-34x2- S[G:*/H]x +G3 -0
Options :

920906107341. 1
920906107342. 2
920906107343. 3
920906107344. 4

Question Number : 37 Question Id : 92090627166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+c

If a,b,c are non-coplanar unit vectors such that Ex(ExF}: then the angle

between a and 